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     INDIAN SCHOOL SOHAR 

     TERM –I EXAM (2022 – 23) 

      SUBJECT: MATHEMATICS 

                CLASS- III  

 

SET A 

   Date of Exam: 29-09-2022 

Time Allotted: 2 hours             Max. Marks: 40 

(Note: This question paper consists of 5 printed pages. Please check that you have all the pages.) 
      --------------------------------------------------------------------------------------------------------------- 
 

Name: _________________      Roll No.: _________ 

Section: ________                GR No: __________ 

      --------------------------------------------------------------------------------------------------------------- 

 

Subject Teacher’s Sign with date    Invigilator’s Sign with date 

      _________________________________________________________________________  

 

SECTION - A 

     I. Choose the correct answer from the given options:                                     1 × 10 = 10           

     1) What is the greatest 4- digit number?                                                               (           ) 

          a) 9990                 b) 8999                     c) 9999                 d) 9000 

     2) What is the greatest 4-digit number by using 3, 4, 1, 9?                                     (           ) 

          a) 4139                b) 9431                       c) 9341                d) 1439     

     3) What is the numeral of eight thousand sixteen?                                               (           ) 

          a) 8016                     b) 8106                   c) 8006                   d) 8060 

     4) What is one less than 6000?                                                                             (           )            

         a) 6001                    b) 5999                  c) 5990                   d) 6002 

     5) What will give if 200 added to 8000?                                                                (           )   

         a) 8200                   b) 8220                   c) 8020                   d) 8002 

     6) What is the result of addition called?                                                                 (           ) 

         a) sum                    b) product                c) difference         d) quotient 
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   7) What is the Roman numeral of 38?                                                                 (           ) 

    a) XXXVI               b) XXXVII               c) XXXIIV          d) XXXVIII 

     8) Add the smallest 3-digit number and largest 2-digit number.                         (           ) 

          a) 190                      b) 199                       c) 109                   d) 119 

     9) Round off 475 to nearest 100.                                                                         (           ) 

          a) 400                      b) 600                        c) 500               d) 550 

     10)  Identify the number on abacus.                                                                       (           ) 

                                        

           a) 3139               b) 3145                         c) 3213                     d) 3124   

    II. State whether True or False:                                                                    1 × 5 = 5                                              

    1) 348 + 100 = 3480                                                                                         (             ) 

    2) 5814 – 5814= 0                                                                                            (             )                               

    3) The result of subtraction is called difference.                                              (             ) 

    4) Rounding off 68 to nearest tens is 60.                                                          (             ) 

    5) In 3897, 8 is in hundreds place.                                                                    (             ) 

  III. Match the following:                                                                                     1 × 5 = 5 

    1) The predecessor of 3060                                   A. 974                       (         ) 

    2) The place value of 6 in 8609                               B. 5000                     (         ) 

    3) 975 – 1                                                               C. 600                       (         ) 

    4) 3246 + 0                                                               D. 3059                     (         ) 

    5)          + 1000 = 6000                                           E. 3246                     (         ) 
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SECTION – B 

                                                                                                    

       IV. Do as directed:                                                                               2 × 7 =14 

        1) Arrange the following numbers in ascending order. 

              6784                    4362                       1057                  6982 

 

     Ans.   

 

      2) Solve. 485 + 334 – 286.                                                                                      

     Ans: 

 

 

 

 

    3) Find the difference. 7896 - 3459 

      Ans: 

 

 

 

 

    4) Estimate the sum by rounding to nearest tens.  7 8 4 + 6 3 7 

      Ans: 
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     5) Find the difference and check the answer through addition. 

                9 8 7 6 – 6 7 8 4 

            Ans: 

 

       

    6) Write in columns and add.  

             786 + 345. 

       Ans: 

 

 

 

 

 

      7)   Add by splitting the numbers. 

                 3 5 + 2 4  

 

        Ans: 
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SECTION – C 

        V. Solve:                                                                                                          3 × 2 = 6 

         1) i) In a school library, there are 345 story books, 102 comic books and                                    

               235 magazines. Find the total number of books in the library.                               

Ans: _____________________________________________________________________ 

         _____________________________________________________________________ 

         _____________________________________________________________________ 

        ______________________________________________________________________ 

        ______________________________________________________________________   

        ______________________________________________________________________ 

 

       ii) Write the Subtraction facts of 35 + 54 = 89.            

        Ans:  __________________________________________________________ 

 

      2) i) A gardener planted 2098 saplings in a park. Heavy rains damaged 739 saplings.    

               How many saplings were saved?     

  Ans: ___________________________________________________________________ 

          ___________________________________________________________________ 

          ___________________________________________________________________ 

          ___________________________________________________________________     

          ___________________________________________________________________      

  ii) Skip count forwards by 4. 

            6037, 6041, _________, _________, ___________ . 

 

        ******************************************************************* 
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     INDIAN SCHOOL SOHAR 

     TERM –I EXAM (2022 – 23) 

      SUBJECT: MATHEMATICS 

                CLASS- III  

 

                                                                    SET –B 

   Date of Exam: 29-09-2022 

Time Allotted: 2 hours             Max. Marks: 40 

(Note: This question paper consists of 5 printed pages. Please check that you have all the pages.) 
      --------------------------------------------------------------------------------------------------------------- 
 

Name: _________________      Roll No.: _________ 

Section: ________                GR No: __________ 

      --------------------------------------------------------------------------------------------------------------- 

 

Subject Teacher’s Sign with date    Invigilator’s Sign with date 

      _________________________________________________________________________  

 

SECTION - A 

       I. Choose the correct answer from the given options.                                    1 × 10 = 10           

       1) What is the smallest 4- digit number?                                                              (           ) 

             a) 1010                 b) 1001                     c) 1000                  d) 1100 

       2) What is the smallest 4-digit number by using 3, 4, 1, 9?                                     (           ) 

             a) 4139                b) 9431                       c) 9341                   d) 1349      

       3) What is the numeral of eight thousand sixty?                                                   (           ) 

             a) 8016                 b) 8106                  c) 8006                       d) 8060 

       4) What is one less than 5000?                                                                              (           )           

             a) 5001                    b) 4999                  c) 4990                     d) 4002 

       5) What will give if 500 added to 8000?                                                                 (           )   

             a) 8500                    b) 8550                   c) 8050                      d) 8005 

       6) What is the result of subtraction called?                                                             (           ) 

            a) sum                    b) difference           c) product                 d) quotient 
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      7) What is the Roman numeral of 28?                                                                   (           ) 

      a) XXVI                b) XXVII                 c) XXIIV                   d) XXVIII 

      8) Add the smallest 3-digit number and largest 2-digit number.                           (           ) 

            a) 190                      b) 119                    c) 109                        d) 199 

      9) Round off 575 to nearest 100.                                                                           (           ) 

            a) 400                      b) 500                     c) 600                         d) 550 

     10)  Identify the number on abacus.                                                                          (           ) 

                      

a) 3139               b)  3145                         c) 3124                       d) 4213 

 

      II. State whether True or False:                                                                   1 × 5 = 5                                              

     1) 648 + 100 = 748                                                                                       (            ) 

     2) 9814 – 9814= 1000                                                                                   (            )                               

     3) The result of addition is called sum.                                                         (            ) 

     4) Rounding off 68 to nearest tens is 70.                                                      (            ) 

     5) In 8697, 8 is in hundreds place.                                                                (            ) 

 

      III. Match the following:                                                                                1 × 5 =5 

       1) The predecessor of 4060                                   A. 6000                      (        ) 

       2) The place value of 8 in 8609                               B. 4059                      (        ) 

       3) 975 – 1                                                               C. 8000                      (        ) 

       4) 5246 + 0                                                               D. 974                        (        ) 

       5)          + 1000 = 7000                                           E. 5246                      (        ) 
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SECTION – B 

                                                                                                    

      IV. Do as directed.                                                                                             2 × 7 =14 

        1) Arrange the following numbers in ascending order. 

                     6784                    6362                       1057                  3982 

 

      Ans.  

 

         2) Solve. 5 8 7 + 2 3 4 – 3 8 6.                                                                                      

      Ans: 

 

 

 

 

       3) Find the difference. 8 4 3 5 – 3 4 2 9 

       Ans: 

 

 

 

 

        4) Estimate the sum by rounding to nearest tens. 

                 4 5 4 + 2 3 7 

   Ans: 
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      5) Find the difference and check the answer through addition. 

                8 8 3 6 – 6 5 8 4 

           Ans: 

 

 

 

 

 

     6) Write in columns and add.  

             7 8 6 + 3 4 5. 

 

 

 

 

 

     

  7)   Add by splitting the numbers. 

                4 6 + 3 2 

     Ans: 
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SECTION – C 

        V. Solve:                                                                                                       3 × 2 = 6 

 

        1) i) In a school library, there are 545 story books, 202 comic books and 

                  165 magazines. Find the total number of books in the library.                       

      Ans:__________________________________________________________________ 

             __________________________________________________________________ 

            ___________________________________________________________________ 

           ____________________________________________________________________ 

           ____________________________________________________________________   

 

   ii) Write the Subtraction facts of 65 + 34 = 99. 

        Ans:  __________________________________________________________ 

 

    2) i) A gardener planted 4088 saplings in a park. Heavy rains damaged 937 saplings.  

              How many saplings were saved?      

Ans: ______________________________________________________________________ 

        ______________________________________________________________________ 

        ______________________________________________________________________ 

        ______________________________________________________________________  

         ______________________________________________________________________ 

      ii) Skip count forwards by 4 

            5037, 5041, ___________, ____________, ___________. 

 

          **********************************************************************     
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